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Quiz 3 - problem]
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—if 0<x<1 —if 0Ly<]

07 07 0=y

]—30,1']‘ 1<x<2 IiO,if 1<y<2
fx(x): 5 fY(J’): 5

£ if 2<x<3 L if 2<y<3

07 00 2y
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—,if 3<x<4 —,if 3<y<4

07 007 3=y
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Quiz 3 - problem?2

X = max{x],xz}
Py (k)= Fy (k)= Fy (k1)

k k—1 k’—k

where FX(k)=P(x]Sk)P(x2<k):§ 4 B 20

2 2

PX(k):k2;k_(k—])2;(k—]):x]—OJ

x—1

XL x=2345
:>PX(k): 10 X e

0 ,otherwise
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Quiz 3 - problem3
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Quiz 3 - problem4&5
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mean=15 ,c6° =100 , c =10
35-15 —5-15
P(-5< X <35)= -
( ) ¢[ . j ¢( - j
=¢(2)-¢(-2)=0.9772-(1-0.9772)=0.9544
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